WYKAZ   DRZEW   DO   WYCINKI

	Lokalizacja

km
	Strona lewa
	Strona prawa
	Uwagi

	
	Gatunek
	Średnica
	Ilość
	Gatunek
	Średnica
	Ilość
	

	 0+000 – 0+100


	lipa

jesion
	50

30
	1

1
	
	
	
	

	0+100 – 0+200
	
	
	
	Jesion

jesion
	20

25
	1

1
	

	0+200 – 0+300
	-
	-


	-
	-
	-
	-
	

	0+300 – 0+400
	wierzba
	80
	1
	
	
	
	

	0+400 – 0+600
	-
	-
	-
	-
	-
	-
	

	0+600 – 0+700
	
	
	
	wierzba
	80
	2
	

	0+700 – 1+800
	-
	-
	-
	-
	-
	-
	

	1+000 – 1+100
	
	
	
	Topola

Topola

Topola
	80

60

50
	2

6

2
	

	1+200 – 1+300
	
	
	
	Wierzba

Wierzba

Wierzba

Topola

Topola

Topola

topola
	50

30

40

40

50

60

80
	1

1

1

8

10

5

1
	

	1+400 – 1+500
	
	
	
	Topola

Topola

Topola

Topola

topola
	30

40

50

60

70
	1

9

9

11

10
	

	1+500 – 1+600
	
	
	
	akacja

topola

topola

topola

wierzba

karpy

karpy
	20

40

60

70

60

60

70
	2

1

2

6

1

2

5
	

	1+600 – 1+700
	Wiśnia

krzaki


	15
	2

20m²
	
	
	
	

	1+700 – 1+900
	-
	-
	-
	-
	-
	-
	

	1+900 – 2+000
	Wierzba

Sokór

Sokór

krzaki
	20

20

30
	1

1

2

50m²
	
	
	
	

	2+000 – 2+100
	krzaki


	
	50m³
	
	
	
	

	2+100 – 2+200
	krzaki


	
	30m²
	
	
	
	

	2+200 – 2+300
	
	
	
	Białodrzew
	50
	1
	

	2+300 – 2+600
	-
	-
	-
	-
	-
	-
	

	2+600 – 2+700
	-
	-
	-
	-
	-
	
	

	2+700 – 2+800
	Wierzba

Wierzba

Wierzba

Wierzba

Topola

topola


	50

60

70

120

60

70
	5

3

1

1

1

1


	Wierzba

Wierzba

Wierzba

Wierzba

wierzba
	10

40

50

60

80
	9

2

4

1

1
	

	2+800 – 2+900
	Topola

wierzba
	50

100
	2

1
	Wierzba

Wierzba

wierzba
	20

40

50
	2

5

13
	

	2+900 – 3+000
	topola
	130
	1
	Wierzba

Wierzba

karpa
	40

50

80
	7

5

1
	

	3+000 – 3+100
	-
	-
	-
	-
	-
	-
	

	3+100 – 3+200
	Wierzba

Wierzba

Wierzba

Wierzba

wierzba
	10

20

50

60

70
	2

3

2

2

3
	
	
	
	

	3+200 – 3+300
	-
	-
	-
	-
	-
	-
	

	3+300 – 3+400
	akacja

akacja

krzaki
	10

20
	3

1

20m²
	
	
	
	

	3+400 – 3+500
	krzaki


	
	20m²
	akacja

krzaki


	10
	10

10m
	

	3+500- 3+700
	-
	-
	-
	-
	-
	-
	

	3+700 – 3+800
	
	
	
	Białodrzew

Białodrzew

Białodrzew

krzaki


	10

20

35
	4

2

1

100m
	

	3+800 – 4+000
	-
	-
	-
	-
	-
	-
	

	4+000 – 4+100
	
	
	
	krzaki


	
	20m²
	

	4+100 – 4+200
	-
	-
	-
	-
	-
	-
	

	4+200 – 4+300
	krzaki


	
	90m²
	krzaki


	
	60m
	

	4+300 – 4+400
	Grusza

krzaki


	40
	1

5m²
	krzaki


	
	90m²
	

	4+400 – 4+500
	krzaki


	
	10m²
	
	
	
	

	4+500 – 4+600

 
	Dąb

Jodła

krzaki


	20

10

90x2,50
	1

1

225m²
	Dąb

Brzoza

Jesion

krzaki


	15

20

20
	1

2

1

47m²
	

	4+600 – 4+700
	-
	-
	-
	-
	-
	-
	

	4+700 – 4+800
	Śliwa

Wierzba

Dąb

Wierzba

Wierzba

Wierzba

Wierzba

krzaki
	15

15

20

45

70

100

110


	1

1

1

1

1

1

1

60m²
	
	
	
	

	4+800 – 4+900
	
	
	
	akacja

akacja

akacja

akacja

wierzba

krzaki

karpa

karpa
	10

15

20

25

70
	23

4

7

1

1

150m²

1

1
	

	4+900 – 5+000
	
	
	
	akacja

akacja

akacja

brzoza

dąb

dąb

dąb

dąb

krzaki
	10

15

20

10

10

15

20

30


	9

10

1

2

8

2

2

1

350m²
	

	5+000 – 5+100
	
	  
	 
	Białodrzew

Brzoza

Olcha

Jesion

Wierzba

Wierzba

Wierzba

wierzba

Topola

Topola

krzaki


	20

15

15

10

40

50

60

85

35

100
	1

1

1

1

1

5

3

2

1

1

10m²
	

	5+100 – 5+200
	Wierzba

Wierzba

Wierzba

Wierzba

wierzba
	25

45

50

60

80
	1

4

9

1

1
	Wierzba

Wierzba

Wierzba

Wierzba


	40

45

50

60
	4

1

1

2
	

	5+200 – 5+300

5+300 – 5+400
	Wierzba

Wierzba

wierzba

wierzba

wierzba

wierzba

wierzba

topola

topola
	10

20

80

50

60

70

80

50

100


	2

3

2

1

1

1

1

1

1
	Wierzba

Wierzba

Karpa

Wierzba

Topola

Topola

Topola

karpa
	10

15

60

60

60

70

80

70
	3

1

1

3

1

1

1

1
	

	5+400 – 5+500
	Wierzba

Wierzba

Topola

karpa
	50

80

80

60
	3

1

1

2
	Wierzba

Wierzba

Wierzba

wierzba
	50

60

70

80
	1

1

2

1
	

	5+500 – 5+600
	Wierzba

Wierzba

Wierzba

wierzba
	70

80

90

100
	1

1

1

1
	
	
	
	

	5+600 – 5+700
	
	
	
	Wierzba

Wierzba

krzaki


	20

30
	1

1

10m²
	

	5+700 – 5+800
	Wierzba

Wierzba

wierzba
	40

50

60
	3

6

3
	Wierzba

Wierzba


	10

30
	2

5
	

	5+800 – 5+900
	Olcha

Olcha

Olcha

Wierzba

Wierzba

Wierzba

Wierzba

krzaki
	15

30

40

50

60

80

90
	1

1

1

5

3

1

2

30m²
	Wierzba

Wierzba

krzaki


	35

40
	1

2

5m²
	

	5+900 – 6+000
	Olcha

Olcha

Olcha

Olcha

Olcha

Wierzba

Jarząb

krzaki


	10

15

25

30

40

60

10
	4

1

3

1

2

1

1

30m²
	Wierzba

wierzba
	50

60
	3

3
	

	6+000 – 6+100
	
	
	
	Wierzba

Wierzba

Wierzba

Wierzba

Olcha

Olcha

Olcha

Olcha

Olcha

Jesion

Jesion

jesion
	40

50

60

80

15

20

40

50

10

20

40

10
	1

5

5

1

1

6

1

1

7

2

2

1
	

	6+100 – 6+200
	
	
	
	Olcha

Olcha

Olcha

Olcha

Wierzba

Wierzba

Wierzba

Topola

Topola

topola
	15

20

30

40

50

60

70

40

50

60


	3

12

13

2

1

1

1

1

1

3
	

	6+200 – 6+300
	krzaki


	
	50m²
	Topola

Topola

Topola

Topola

Wierzba

Wierzba

Wierzba

Olcha

Grab

karpa
	40

50

60

90

60

70

90

10

35

60
	1

1

1

1

3

2

1

3

1

1
	

	6+300 – 6+400
	
	
	
	Karpa

Jesion

Jesion

Wierzba

Wierzba

Wiąz

Karpa

Karpa

krzaki
	90

40

60

50

60

100

40

50
	1

1

1

1

1

1

1

1

40m²
	

	6+400 – 6+500
	Wierzba

Brzoza

Brzoza

Karpa

krzaki
	30

35

70

50
	2

2

1

1

60m²
	
	
	
	

	6+500 – 6+600
	Wierzba

wierzba
	40

60
	2

1
	Jesion

wierzba
	20

90
	1

1
	

	6+600 – 6+700
	
	
	
	Karpa

krzaki
	70
	4

60m²
	

	6+700 - 7+500
	-
	-
	-
	-
	-
	-
	

	Odcinek AB
	
	
	
	
	
	
	

	0+000 – 0+100
	-
	-
	-
	-
	-
	-
	

	0+100 – 0+200
	Osika

Osika

Brzoza

krzaki
	10

15

10


	3

2

5

15m²
	
	
	
	

	0+200 – 0+300
	Akacja

Wiśnia

krzaki
	15

25
	1

1

230m²
	
	
	
	

	0+300 – 0+400
	akacja

krzaki


	25
	1

20m²
	
	
	
	

	0+400 – 0+500
	akacja

akacja

akacja

krzaki


	10

15

20
	1

1

2

10m²
	
	
	
	

	0+500 – 0+600
	-
	-
	-
	-
	-
	-
	

	0+600 – 0+700
	Śliwa

śliwa
	10

20
	7

13
	
	
	
	

	0+700 – 0+800
	-
	-
	-
	-
	-
	-
	

	0+800 – 0+900
	Wierzba

Wierzba

krzaki


	60

70
	3

1

10m²
	
	
	
	

	0+900  - 1+000
	akacja

akacja

krzaki
	10

15
	1

10

5m²
	
	
	
	

	1+000 – 1+100
	Czereśnia

Akacja

akacja

akacja

akacja

klon

klon

klon

krzaki


	25

10

15

30

35

15

30

35
	2

2

1

2

1

1

1

1

10m²
	
	
	
	

	1+100 – 1+200
	orzech
	30
	3
	
	
	
	

	1+200 – 1+300
	Wierzba

Wierzba

Karpa

karpa
	40

60

40

70
	8

1

1

1
	
	
	
	

	1+300 – 1+400
	Wierzba

Wierzba

Wierzba

Wierzba

Jarzębina

Jarzębina

Jesion

Jesion

Lipa

Jodła

jodła
	30

40

50

60

10

15

10

20

40

25

30
	3

2

2

1

1

1

4

1

1

1

1
	orzech
	40
	1
	

	1+400 – 1+500 
	Wierzba

Wierzba

Wierzba

Wierzba

Wierzba

Wierzba

Brzoza

Brzoza

Brzoza

Topola

Olcha

olcha
	10

30

40

60

90

100

10

15

25

40

15

20
	1

1

1

4

1

1

2

3

6

3

1

1
	
	
	
	


Razem:

               drzewa   szt.

               średnica   10 – 15         -   173

                                16 – 25         -    87

                                26 – 35         -    48

                                36 – 45         -    80

                                46 – 55         -  103

                                56 – 65         -    80

                                66 – 75         -    32

                                76 – 85         -    20

                                86 – 95         -      7

                                96 – 105       -      7

                               ponad  105    -      3

                 karpy  szt.
                                średnica   30    -  1

40  -  2

50  -  3

60  -  6

70  - 11

80  -  1

90    -  1

                 krzaki     -  2020 m²

